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Second Year T.D.C. SCIENCE EXAMINATION, 2019
ELEMENTARY COMPUTER APPLICATION

Time: Three Hours
Maximum Marks: 100

INSTRUCTIONS/ fesr

1. The test booklet contains total 100 questions. Each question carry 1 (one) mark.
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2. Candidate shall be required to attempt all 100 questions.
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3. No negative marking.
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4. On receipt of test booklet, the candidate should immediately check it and ensure that it
is complete in all respects. Discrepancy, if any, should be reported by the candidate to
the invigilator within 10 minutes of receiving the test booklet.
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5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken the

circle corresponding to correct answer.
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6.  While answering each question, candidate should blacken OMR properly with blue pen
or black ball pen as per instruction printed on the OMR sheet.
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7.  For each question only one circle should be blackened. If more than one circle is found

marked, the question will be treated unattempted.
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8.  Candidate shall be required to deposit OMR answer sheet with the invigilator.
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Which of the following statement BEST 1.

describes the term “Information”?
(A)
(B)
(&)
(D)
Second Generation is used for —
(A)
(B)
(©)
(D)
What is full form of CU?
(A) Central Unit
(B) Centre Unit
(C) Control Unit
(D) None of these

Processed data
Processed knowledge
Group of data
Unprocessed data

Vacuum tubes
IC

Transistors
None of these

Which is a part of the computer?
(A)
(B)
(©)
(D)

Mouse
Keyboard

CPU

All of the above

Netscape Navigator is a —
(A) Computer
(B) Browser
(C) Network technique
(D) None of these

A CPU consists of —
(A) ALU only
(B) CU only
(C) ALU, CU and Registers
(D) None of these

What is Operating System?
A)
(B)
©
D)

Microprocessor
Hardware
Software package

1/O device
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Dot — matrix is a type of —
(A) Tape
(B) Printer
(C) Disk
(D) Bus

Which of the following is volatile

memory?
(A) RAM
(B) ROM
(C) EPROM
(D) Flash Memory

Which of the following is an input

device?
(A) Monitor
(B) Printer
(C) Keyboard
(D) Projector
Kilo byte is —
(A) Floppy weight
(B) Memory unit
(C) Computer speed
(D) Hard disk capacity

The base of octal number system is —
A) 2
B) 10
(C) 16
D) 8

1 GB is equal to —
(A) 1024 TB
(B) 1024 MB
(C) 1024 KB
(D) 1024 GB
Which is Web browser?
(A) Google
(B) Netscape
(C) All the webs

(D) Yahoo
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A Floppy disk contains —
(A) Tracks
(B) Sectors
(C) Both sectors and Tracks
(D) None of these

Software is —
(A) A setof programs
(B) A setoffiles
(C) A setof Equipment’s
(D) None of these

A byte consist of —
(A) One bit
(B) Eight bits
(C) Four bits
(D) Sixteen bits

Which is a Programming Language?
A C
B) C++
(C) Java
(D) All of the above
What is
generation computer?
(A) IC’s
(B) Vacuum tubes
(C) Transistors
(D) ULSI
Data processing includes —
(A) Recording
(B) Classification
(C) Calculation
(D) All of the above

LAN stands for —
A)
(B)
©
(D)

main component of fifth

Local Area Network
Wide Area Network
Line Area Network

All of the above
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ROM is —
(A) Temporary and Secondary
(B) Permanent and Primary
(C) Temporary and Primary
(D) Permanent and Secondary
Which key is used to SAVE AS a
document?
(A) F2
B) F7
(C) F10
(D) Fi12
The ........cooeeeit.
networks.
(A) LAN
(B) WAN
(C) Internet
(D) None of the above
The binary equivalent of decimal number
25is —
(A)
(B)

is the largest of all

11001
11101
(C) 10000
(D) 11000
What is the correct example of cell
address in MSS Excel 20107
(A) Al2AZ
(B) 1145AZ
(C) AZ145
D) 11AZ12

To start slideshow of a presentation —

(A) Press F5 key

(B) From slideshow menu choose

view show option.

(C) From slideshow menu choose
rehearse timing.

(D)
What is shortcut key to insert a new slide
in presentation?

(A) Ctul+M

(B) Ctrl+D

(C) Ctrl+]J

(D) Cul+N

Either option (A) or option (B)
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When a Computer is working on given
instruction, it is called?
(A)
(B)
©
(D)
The Range of octal number system is —
(A) 0-7
B) 1-8
©C) A-H
D 0-9
WWW Stands for —
(A) Word Wide Windows
(B) Word Wide Wizard
(C) Word Wide Web
(D) None of the above

A cell range in Excel is represented as —
(A) Ai...Awp
B) Ai-Aw
(C) Ai:Ap
D) A1, A
ASCII is —
(A)
(B)
©
(D)
Ctrl + W is used for —
(A) Ttalic
(B) Leftindent
(C) Save document
(D) Close document
ISP stands for —

(A)
(B)
©
(D)

Storage
Processing
Input
Output

A character code
A hardware

A compiler

None of the above

Internet Service Provider
Internet Service Point
Information Sub Point

None of the above

Page 6 of 16

29.

30.

31.

32.

33.

34.

35.

S Th HREX e N el ) e
IRAT 8, O I HEd 2?
(A) Storage
(B) Processing
(C) Input
(D) Output
3ifdect AT YUITell &7 SR &Il § —
A) 0-7
B) 1-8
(C) A-H
D 0-9
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(A) Word Wide Windows
(B) Word Wide Wizard
(C) Word Wide Web
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Al ... Ap
A1 —Ajp
©) Ai:Awp
D) Ai, A
ASCII g —
(A) A character code
(B) A hardware
(C) A compiler
(D) ST # | B 7
Ctrl + W foraa forg vgad forar srar 27
(A) Italic
(B) Left indent
(C) Save document
(D) Close document
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(A)
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Internet Service Provider
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36. CUI means — 36. CUI &7 31fumrg & —

(A) Card User Interface (A) Card User Interface
(B) Character User Interface (B) Character User Interface
(C) Common Unit Internet (C) Common Unit Internet
(D) Control User Internet (D) Control User Internet
37.  Which of the following is not an example 37. = # § @9 AT AUCIIR BT ISTERT]
of software? T2 27
(A) Antivirus (A) vSaRRdA
(B) Scanner (B) R
(C) MS word (C) T a3
(D) Printer driver (D) fifex g
38. Hexadecimal of 15 is — 38. 15 &1 TaAISNIAA § —
(A) 1001 (A) 1001
B) E B) E
(C) F (C) F
(D) B D) B
39. Dot Matrix Printer is — 39. Sfc Afgaq fiiew & —
(A) Impact (A) sHEe
(B) Non — Impact (B) M — g®ac
(C) Laser (C) <R
(D) Thermal (D) ofa
40. Note Pad file extension is — 40. Icls HISd TaACTH BT § —
(A) .xIs (A) .xIs
(B) .ppt (B) . ppt
(C) .doc (C) .doc
D) .txt D) .txt
41. Formulas in Excel start with — 41. Excel ¥ 93 [&9d URH9 8IAT 27
A) % A) %
B) + B) +
© = © =
D - D) -
42.  Which of the protocols below is used for 42. = # | ®F AT Wbl email Ao H
sending email? BT 3ATT 87
(A) FTP (A) FTP
(B) SMTP (B) SMTP
(C) TCP/P (C) TCP/IP
(D) HTTP (D) HTTP
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Which of the following is a Search
Engine?

(A) Chart

(B) Internet Explorer

(C) HTML

(D) Google
A computer cannot boot if it does not
have —

(A) Operating System

(B) Compiler

(C) Internet

(D) Network
The largest memory size is —

(A) PB

(B) kB

(C) TB

D) GB
Which language translator will translate a
assembly program to machine language
line — by — line?

(A) Compiler

(B) Loader

(C) Interpreter

(D) Assembler

Binary number 0101101 can be
represented in decimal number by —

(A) 32

(B) 16

(C) 45

(D) 46

How many worksheets can a workbook
have?

A) 3

(B) 16

(C) 255

(D) None of the above
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What is full form of HTML?
(A) Hyper Text Make Language
(B) Hyper Text Markup Language
(C) High Text Markup Language
(D) None of these

Microsoft word is —
(A)
(B)
(C) A application software
(D) Both (A) and (C)

............ stores in Main Memory.

Only data

Only program

Data, program or result and any

kind of information

None of these

A processing software
A operating software

(D)

Operating System is a collection of —
(A)
(B)
(&)
(D)

e — mail stands for —
(A) Electronic Mail
(B) Emergency Mail
(C) Effective Mail
(D) Efficient Mail

A web site’s main page is called its —
(A)
(B)
©
(D)

Programs
Files
Directories
All of these

Browser page
Search page
Home page
Bookmark

Internet is —
A)
(B)
©
(D)

Network of Networks
Virtual Private Network
Both (A) and (B)

None of these
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Which of the following does not store
data permanently?

(A) ROM

(B) RAM

(C) Floppy Disk

(D) Hard Disk

Which of the following is
transmission medium?

(A) Coaxial Cables

(B) Telephone lines

(C) Modem

(D) Microwave Systems
The Base of Hexadecimal number system
is —

(A) 10

B) 8

(C) 16

(D) None of the above
Which of the following is not a type of
network?

(A) MAN

(B) TAN

(C) PAN

(D) WAN

Which of the following is not a type of
network topology?

(A) Ring

(B) Bus

(C) Star

(D) Circle

............... is a pointing device.
Mouse

Printer

Scanner

Key board

If a computer on the network shares

not a

resources for others to use, it is called .....

(A)
(B)
©
(D)

Server

Client
Mainframe
Service provider
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Each page in a power point is called as

(A)
(B)

Worksheet
Text page
(C) Slide
(D) Workbook
The speed of CPU is measured in .......

(A) Megahertz
(B) Gigahertz
(C) Both (A) & (B)
(D) None of these

What is the full form of BIOS?
(A) Basic Input Output System
(B) Basic Input Output Source
(C) Basic Internet Output System
(D) None of these

Computer generation are classified into —
A) 5
B) 3
(C) 6
(D) None of these

How many Row’s available in Excel
20077
(A)
(B)

256
16348
(C) 1048576
(D) None of the above
Hexadecimal letters A through F are used

for decimal equivalent values of —
(A) 1 through 6
(B) 10 through 15
(C) 11 through 17
(D) 9 through 14

DBMS stands for —
(A)
(B)
©
(D)

Database Associated
Database Application
Database Management System

Database Administrator
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(D) Swdad | Py TEl
BIOS &1 faxaiRa wu @11 27
(A) Basic Input Output System
(B) Basic Input Output Source
(C) Basic Internet Output System
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Excel 2007 # f&a+ Row’s IuRkerd g7
(A) 256
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(A)
(B)
©
(D)

Database Associated
Database Application
Database Management System

Database Administrator
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A Data about Data is called ...........
(A) Database
(B) Data Independence
(C) Meta field
(D) Metadata
A key which describe relationship b/w
“Tables” is called —
(A) Secondary key
(B) Foreign key
(C) Primary key
(D) None of these

What menu is selected for “Spelling &
Grammar” in Ms — word 2007?
(A) Reference
(B) Review
(C) Page Layout
(D) View
Which one of the following is not one of
the major type of e — commerce?
(A) C2B
(B) B2C
(C) B2B
(D) P2B
The first electronic computer in the world
was —
(A)
(B)

UNIVAC
EDVAC
(C) ENIAC
(D) All of the above
What is a shortcut key for “Centre” in
word?
(A)
(B)

Ctl + C
Ctul+T

(C) Cul+S

D) Cul+E
What is the full form of “Virus™?

(A) Vital Information Resource
Under seize
Virtual Information Research
Under seize
Very Important Replicate Under
Size File
Various Information Replicate
User Seize

(B)
©

(D)
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What menu is selected to “Goal Seek” in

Excel 2007?
(A) Data
(B) View
(C) Review
(D) None of these
Junk E — mail is also called.............
(A) Spam
(B) Spook
(C) Script
(D) Spool

Which Access method is used to access
Cassette tape?

(A) Direct

(B) Indirect
(C) Random
(D) Sequential

A database Language concerned with the
definition of the whole database structure
and schema is —

(A) DCL

(B) DML

(C) DDL

(D) All of the above

ASCII stands for ...........

(A) American Stable Code for
International Interchange

(B) American Standard Case for
Institutional Interchange

(C) American Standard Code for
Information Interchange

(D) American Standard Code for

Interchange Information
Machine Language makes use of —

(A) Binary digits

(B) Decimal digits

(C) Octal digits

(D) Hexadecimal digits
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85.

86.

87.

88.

89.

[2202]

Which of the following is harmful for
computer?
(A) Antivirus
(B) Freeware
(C) Shareware
(D) Virus
Full form of POP is —
(A) Post Operation Protocol
(B) Post Office Protocol
(C) Preliminary Operational
Protocol
(D) None of these
Ctrl + K is used for —
(A) Replace
(B) Paragraph
(C) Hyperlink
(D) New

Which is Single User Operating System?
(A) MS-DOS
(B) UNIX
(C) XENIX
(D) LINUX
Which of the following is correct format
of Email address?
(A) name @ website @ info
(B) www. name of ebsite. com
(C) name @ website. info
(D) name. website. com

What is the full form of OTP?
(A) Only Time Period
(B) One Time Period
(C) One Time Password
(D) Only Time Password

Internet banking is also known as —
(A) E —banking
(B) Online banking
(C) Virtual banking
(D) All of the above
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83.

84.

85.

86.

87.

88.

89.

STH ¥ B AT R o oy FeRe:
27

(A) Antivirus

(B) Freeware

(C) Shareware

(D) Virus

POP & full form &7

(A) Post Operation Protocol

(B) Post Office Protocol

(C) Preliminary Operational Protocol

(D) 3T q BIg TEI

Ctrl + K &7 ST # 8Iar & —
(A) Replace & forw
(B) Paragraph & foru
(C) Hyperlink & foru
(D) New & forq
DI Single User JTRET Rve# 87
(A) MS -DOS
(B) UNIX
(C) XENIX
(D) LINUX
79 ¥ &9 91 Email — address &1 8
ey 57
(A) name @ website @ info
(B) www. name of ebsite. com
(C) name @ website. info
(D) name. website. com
OPT &7 faxaiRa = @ 27
(A) Only Time Period
(B) One Time Period
(C) One Time Password
(D) Only Time Password
gexe dfpT B A F-T AT B |
(A) E - banking
(B) Online banking
(C) Virtual banking

(D) SR I
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Which of the following is not a
Programing Language?

(A) Perl

B) Java

(C) Fox Pro

(D) Oracle
What is the full form of URL?

(A) Uniform Resource Locator
(B) Uniform Resource Link
(C) Uniform Registered Link
(D) Unified Resource Link

The Base of Binary Number System is —
(A) 16

B) 6

< 2

(D) 10
The top most row of keys on the standard
keyboard contains .......... keys, and the

longest key on the keyboard is ...........

(A) Number, enter key
(B) Function, space bar
(C) Alphabetic, space bar
(D) Function, enter key

E-mail addresses in .......... field are
visible to all recipients. E-mail addresses

in ... field are visible to only the
recipient.
(A) Bcc, To
(B) CcandBcc, To
(C) ToandBcc, Cc
(D) Toand Cc, Bce
What is WAP?
(A) Wireless Access Point
(B) Wireless Access Protocol
(C) Wireless Application Protocol
(D) Wireless Access Portal
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90.

91.

92.

93.

9.

9s.

STH | DI YT AT T8 27
(A) Perl
(B) Java
(C) Fox Pro
(D) Oracle

URL &1 faxaiRa AW a1 27
(A) Uniform Resource Locator
(B) Uniform Resource Link
(C) Uniform Registered Link
(D) Unified Resource Link
qTg-I) TRAT YOTTell b7 MR BIdl & —
(A) 16
B) 6
< 2
D) 10
AME B — de W DIl B Aa0 HUR

Number, enter key
Function, space bar
Alphabetic, space bar
Function, enter key
®les H T — HA UsH W
T3l Bl YaRId BT & . Bles
H 3 — Ul TS dddl Uit @ uefdfd
B & |
(A)
(B)

Bcece, To

Cc dT Bee, To
(C) To dAT Bee, Cc
(D) To T Cec, Bee

WAP &1 87
(A)
B)
(©)
(D)

Wireless Access point
Wireless Access Protocol
Wireless Application Protocol

Wireless Access Portal



96.

97.

98.

99.

100.

[2202]

MS — word file extension is —

(A) .xls
(B) . ppt
(C) .docx
D) .txt

What is the full form of L. C. D?
(A) Liquid Crystal Display
(B) Lead Crystal Device
(C) Liquid Central Display
(D) Light Central Display

What is URL?

(A) Home Address
(B) User Address
(C) Website Address
(D) None of these

96.

97.

98.

Who display the Active cell content in 99,

Excel?
(A) Name Box
(B) Row heading
(C) Taskpen
(D) Formula Bar
Brick and Mortar refers to —
(A) Offline business
(B) Online business
(C) Transport
(D) Building

100.

MS - word H Blgel bl YACLH  BIdl

T —

(A) .xlIs
(B) . ppt
(C) .docx
(D) . txt

L.C.D. &1 Q1 9™ 7 8l 87
(A) Liquid Crystal Display
(B) Lead Crystal Device
(C) Liquid Central Display
(D) Light Central Display

URL @ 87
(A) Home Address
(B) User Address
(C) Website Address
(D) T 4 PIx TEl

TR H Ufded ¥ & decd Pl B
el e &7
(A) Name Box
(B) Row heading
(C) Task pen
(D) Formula Bar
Brick and Mortar H&fd &=al § —
(A) Offline business
(B) Online business
(C) Transport
(D) Building
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